
Cost Allocation Using Reference Figures
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Total quantity of reference figure
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Quantity of reference figure in cost object 10R10 100:=

Quantity of reference figure in cost object 9R9 1800:=

Quantity of reference figure in cost object 8R8 760:=

Quantity of reference figure in cost object 7R7 5500:=

Quantity of reference figure in cost object 6

C 100000:= Costs to be allocated

n 10:= Total number of cost objects

i 1 n..:= Current number of cost objects

R1 1000:= Quantity of reference figure in cost object 1

R2 2500:= Quantity of reference figure in cost object 2

R3 7800:= Quantity of reference figure in cost object 3

R4 2500:= Quantity of reference figure in cost object 4

R5 2000:= Quantity of reference figure in cost object 5

R6 3000:=

alloc01.mcd


